FCCAnalyses: FCC-ee Simulation (Delphes)

}L) 1020 T | T | T | T | T | T | T | T | T | T
§ s =240 GeV, L=10.8 ab™ -
L 1018i e'e’ ~ZH,Z - vv,H - 11, B
10'° ~ E5>100 GeV, BDT score>0.5 B
10M4 ]
. Z(qo)H(TT) CJww []Z-QQ _]
12 Z(IH(TT) = zz Eeve- | —
10 o ZW)HG) [ Jefe- 11 [Hee- vy, Z2
1010 Jey —ezh)  [dyy -1 =
ol [ Z(tr)H(17) B Z(tD)H(VV) =
10" BN zZoHQQ)  [JzZwwH(VW)
10° - [ ] Z(DH(VV) B
10% = -
102 -
14— —
1072 - =
107 l =
10—6LE|||||| A VT A i

-100 -80 -60 -40 -20 0O 20 40 60 80 100

Tsublead py [G eV]



	Contents
	Page 1


